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Math 115
Fall 2017

Lecture 8

2 27

Consecutive integers:
3,4,5,6,----
\Q(, ?,0,2\,22,---- 'x ) 'x _\_-17 fx_\_zl ..
_— \j, _l()/—\sl---_
S'QV\A \'*UUO CONS. iﬂﬁ%&vs\ Such that
P Sum US 231.
X, x+1 X X 'X—~;1=231 .
=2 ¢
2x ~1 3] X 5
2x =231 -1 &:\E‘
2% =230
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The perimefey oS oo rechngle 1S 710 .
Le.vxg\'\,\ SKU\A’V\A awve W.
Sind s dimensions,

2L+ 2W =10 X\ £.70 \
2(’)(‘\-]) kZK’X) =10 —

2% 42 +2x =10 ?(--éji
“x 42210 X=|T ' §Y

= -2

X<\

)

SW\A E\UO Cony. (v\‘\‘Q‘bQ@ Such '\'\!\o\'\'
e Som of Fwice the SW\O\“QX owne and
Y Tiwmes the lovgey one 1S 1R,

Sweller X 2 Smally + D \Wj =%

Lawvory x+1 2 x +3(x+1)=1\3
2% +3x +3 =%
) Sx =\\%-3
(23> £
O =\

x5 Pre23]
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find +wo Cons. infeges Such et

@'\‘(Mes the Swaller GV\GA

B AHecence of V5% and S times
The Ager S 4. Smalley = 198 — S lavger

Swaller X
lager X+l Ux =\53 - 5 (x+1)
WX = \o% —HXx -5

Ax=153 x5S
ﬁ

=1

Consecutive even (r\‘\efjevs

16, 19,20, - - -
G0, Q2,94, - - -+ | X X¥e, KA,
_\0, =R, -6, % wust be even,

$ond (:\-\uo ConS. wWen iv\‘mf,evs) Soch that
Pheir '\'o\‘a\ s %6,
X € %xA2 X ¥ X2 =6

: 2x x2=\46
~\25 i 2x=IWt ¥ ?<=‘l'2.§|
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“hvee %\‘A\es o S‘ U \'0«\3\6 ove SThwee

Cong. Quew wntegers.

s Perimeler 1S O inches.

A X«
Sicd o \o“cots’ﬁ Side. ?\(o -
N
Sde i X
Usde 2 xx2
‘Ec\z 3 '.%*ﬂ
2% +4=32

R ‘(‘Q.c'\ox\%u\mv ack ‘awA oS ou ?Qx-imq-\-v OQ
132 HM. s dlmensions ave Wwo Cons. @y

iv\‘\ejexs, S'\AA _
S = \32
X
X 2
2 =\32
e(x+2) "(2—(')0 7('-'«\——? m

2% +4 xWx=132

324
%X = \').)'L_L\

L4Y=\2%
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COY\SQCU'\'C e odd infegevs
1,1\, 2L,- .-

2
Qy, 85,91, --- - 2% ) Xx2, Xy

X ’M\)Sﬁ be vo\-
—\9, —-\.’3/ —1’3_/--..

S-’ A o CovS. OAA in‘\'ef,evs w\\ogg Sum
N

S 32, X n +2.= 32 m
2% =30

x=\5

gir\c\ +wo Cons. OAA\ H\'\'eﬁe\rs S\JC\ '“r\a‘\'
S 4imes the Swaller one vedvced \0\6
+w e The \mv'f,e/ one s ectuu\ © \%D.

x 3 242 5SSl — S-lager = BS
5x —2 (% +2) =¥

' 5x -ux —4= B9

(eogsy dx=I€9
563 -2:65=\%5 I;%l i
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Sind two Cons. odd infegers Such that

B Fimes the Smaler ome) (s eql B

298 less  Fhow) V‘{ fimes The larger one]
2% = 1(xx2)— 23

X £ xx2
1K) -8
3x-Tx = -2¥4
KX = ——?—%L\
__zg\\ ——
- 220 =1
X= - \.__’-4

%'?QCCm\ Tutovr

T:VQY*& ¥V~\‘Aat\{ inw E1-210
Q430 Am - 1130 AM
\/—\/_\_/




